04/2021

Technische Zeichnung, Technical drawing,

Dessin technique

JEPSON FPouver

Page 1/1

Hole Cutting Drill LSBM127




LSBM 127 | 490060

JEPSO,

POUER’

GERMANY

Leading Through Innovation

ITEM PART NO Q'TY PART NAME Price in € excl. VAT
1.) MALSBMO01 1 INTERNAL CIRCLIP R-40 1.07 €
2.) DP037 3 PARALLEL KEY 5x5x10 1.61€
3.) MALSBMO003 1 SPINDLE 5/8"-16 26.19 €
4.) MALSBMO004 2 BEARING 6203-2NSE 18.17 €
5.) MA3519 1 EXTERNAL CIRCLIP S-17 0.54 €
6.) JEP32044 1 SCREW M5 x 25 0.54 €
7.) MALSBMO07 1 GEAR CASE 326.11 €
8.) MALSBMO08 1 OUTPUT GEAR M1.5 x 44T 64.69 €
9.) MA3521 1 EXTERNAL CIRCLIP S-15 0.54 €
10.) MA5041 3 BEARING 6200 zz 18.17 €
11.) MALSBMO11 1 INTERMEDIATE GEAR PINION M1.5 x 9T 32.62 €
12.) MALSBMO0125 1 INTERMEDIATE GEAR M1.25 x 47T 48.11 €
13.) MALSBMO13 1 BUSHING $30x p36x 11 22.45 €
14.)  JEP23014 3 BALL BEARING 608 7z 6.95 €
15.) MA35K81 1 THRUST WASHER $10.1 x 14 x 1 0.54 €
16.) MA35K25 1 BEVEL GEAR M1.0 x 46T 51.33 €
17.) MA35K26 1 PARALLEL KEY Ax4x7 1.07 €
18.) MA35K27 1 INPUT PINION M1.25 x 9T 24.06 €
19.) MALSBMO19 2 LINEAR BEARING $16 x $28 x 37 25.12 €
20.) MALSBMO020 1 GEAR CASE 67.89 €
21.) MA35K77 1 SEAL 5cm 0.54 €
22.) MAEBO1 2 SCREW M5 x 25 0.54 €
23.) MA35K29 2 SCREW M5 x 30 0.54 €
24.) MA35K30 1 GEAR COVER 102.11 €
25.) MALSBMO025 1 FLAT HEAD SCREW M5 x 15 0.54 €
26.) MALSBMO026 1 STRAP 14.43 €
27.) MALSBMO027 1 FLAT HEAD SCREW M5 x 20 0.54 €
28.) MAS50A050 1 BEARING 6001-LLU 18.71 €
29.) MALSBMO029UK 1 ARMATURE 110V M1.0 x 6T 123.50 €
29.) MALSBMO029UK 1 ARMATURE 220V M1.0 x 6T 124.03 €
30.) MA3514 2 SCREW M5 x 60 0.54 €
31.) MALSBMO31UK 1 STATOR 110V 71.10 €
31.) MALSBMO031 1 STATOR 220V 65.22 €
32.) MA35K36 1 MOTOR HOUSING 26.19 €
33.) MA35K37 2 CARBON BRUSH SET (2 PIECES) 7x11x17 15.43 €
34.) MA35K38 2 BRUSH HOLDER SET ( 2 PIECES) 8.99 €
35.) MA3577 2 NUT M4 x 8% 0.54 €
36.) MA5047 2 BRUSH SPRING 0.54 €
37.) MA5044 2 SCREW M4 x 10 0.54 €
38.) MA3538 4 SCREW M4 x 12 0.54 €
39.) MA35K43 1 MOTOR TAIL COVER 9.63 €
40.) MA35K44 2 SCREW M4 x 25 0.54 €
41.) MA3586 1 POWER SUPPLY CABLE 1.0x3Cx2.5M 25.66 €
42.) MA35K64 1 CORD ARMOR 2.13 €
43.) MA3559UK 1 MOTOR SWITCH 110V 48.65 €
43.) MA3559 1 MOTOR SWITCH 220V 49.18 €
44.) MA3557 9 SCREW M4 x 8 0.54 €
45.) MALSBMO045 1 SWITCH BRACKET 8.56 €
46.) MA35K100 1 SCREW M4 x 16 0.54 €
47.) MA3537 1 CABLE CLIP 0.54 €
48.) MALSBMO048UK 1 OVERLOAD UNIT 110V 77.52 €
48.) MALSBMO048 1 OVERLOAD UNIT 220V 77.52 €
49.) MALSBMO049 1 MOUNTING PLATE 3.21€
50.) MALSBMO50 1 CRANK SPINDLE 109.59 €
51.) MALSBMO51 1 CRANK SPINDLE CASING(L) M14 x P2.0- 27.80 €
52.) MALSBMO052 1 CRANK SPINDLE CASING(S) M14 x P2.0- 27.80 €
53.) MA35K46 2 CRANK BUSHING $28 x $32x 12 1.61€
54.) MA35K47 2 THRUST WASHER $25.5 x p40 x 2 2.67 €
55.) MA35K19 2 EXTERNAL CIRCLIP S-25 0.54 €
56.) MALSBMO56 2 NUT M20 x P1.5 2.13 €
57.) MALSBMO57 2 COLUMN 85.54 €
58.) MALSBMO58 2 NUT M14 x P2.0 1.07 €




JEPSO,

POUER’

LSBM 127 | 490060 GERMANY
Leading Through Innovation
60.) MA35K49 1 CHECK BALL $5 0.54 €
61.) MA50A030 1 E-CLIP E-3 0.54 €
62.) MALSBMO062 1 CRANK HUB 56.13 €
63.) MA35K51 1 SPRING $0.6 x $p4.1 x $5.3 x4 0.54 €
67.) MALSBMO067 3 GRIP 11.76 €
68.) MALSBMO068 2 TELESCOPIC ROD 32.08 €
69.) MALSBMO069 2 NUT M12 x P1.75 x 7mm 0.54 €
70.) MALSBMO70 2 SPRING $3 x $23 x $29 x 16T 8.02 €
71.) MALSBMO71 1 CHUCK 5/8"-16 32.08 €
73.) MALSBMO73 1 BODY CASTING 264.63 €
74.) MALSBMO074 2 SWIVEL LEVER 11.23 €
75.) MALSBMO75 2 SPRING PIN 0.54 €
76.) MALSBMO76 2 VISE SCREW 21.92 €
77.) MALSBMO77 8 SCREW M5 x 12 0.54 €
78.) MALSBMO078 4 TABLE PLATE 7.48 €
79.) MALSBMO79 2 DRIVE GUIDE ROLLER $12 x $20 x 20 14.97 €
80.) MALSBMO080 2 ROLLER AXLE $12 x 40 10.15 €
81.) MALSBMO081 4 ROLLER PLATE 5.89 €
82.) MALSBMO082 8 SCREW M5 x 16 0.54 €
83.) MALSBMO083 2 SPRING PIN $5 x 20 1.61€
84.) MALSBMO084 2 CHAIN SHACKLE BRACKET 5.35€
85.) MALSBMO085 4 SPACER $5.1x $9 x 4.8 1.61€
86.) MALSBMO86A 2 CHAIN 45($32-$203mm) 106.92 €
86.) MALSBMO086B 2 CHAIN (Optional) 124($32-$600mm) 299.38 €
87.) MALSBMBOX 1 CARRY CASE 96.23 €
88.) MALSBMO088 2 SOCKET CAP SCREW M5 x 25 0.54 €
89.) MA35K98 1 BRACKET-TOP 4.28 €
90.) MA35K99 1 BRACKET-BOTTOM 3.21€
91.) MA35K100 2 SCREW M4 x 16 0.54 €
92.) MA3569 1 NUT M5 0.54 €
93.) MALSBMO093 1 SCREW M4 x 8 0.54 €
94.) MALSBM094 2 SPADE TERMINAL 0.54 €
95.) MALSBMO0S5 2 TERMINAL COVER 0.54 €
96.) MA3576 1 STAR WASHER M5 0.54 €
97.) MA35K107 1 PLUNGER 8.02 €
98.) MALSBMO098 1 FAN SHROUD 3.74 €
99.) MA50A140 1 EARTHING MARKING 0.54 €
100.) MALSBM100 1 BULL'S EYE LEVEL 6.41 €
101.) MALSBM101 1 SCREW M4 x 12 0.54 €






